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e § T T, e T, i SR ST W oo o s ) EEEE
¥ % fowr § %9 § U U= oUW ®eM, o feet we O EEEE O
% Y F@ FW g fafay) = EEE
Tl 12 978 WEA H, YOk U1 % fhad e gi? B

86. THoE o s fosd i 10 o=l | a1 T4 3R Y& o== i 4 ToerEdl el 4
7€ 8 oedl | e WA BT I, Yk s=d ! fehaql fHSEAT ferd?

87. 44 A TRl KM ° O f& q UG WX Wbl €1 SH HSH # 12 & a6 ferat
F I AR M W Gehdl 82

88. 30 =Afwd foreht @a &1 e 17 &9 & & Teohd 21 36 *ed 1 10 & & e
& fou, fea Afdfea =afad v | g S =nfgw?

89. ¥ETH 6 km/h TH THA =l ¥ 304 whot 20 e # wg= ot 21 24 foge o
Thel UEeH o faU SHE! TH WHM @ fha g =g

90. fd TEfFd W T That o folT Tid: 8:20 W F1 URY HIAT ¢1 AR 98 Thal
10km/h, #! TF THE 911 ¥ ¥, 9 98 bt 8 frfe #1 0§ w9 7, Wy
If% 9% 16 km/h %1 T G4 =1 § 9, @ 10 e Teel Thel w89 o 21
el fehed o URY e @2
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91. W9 I &l Y& wate s @ II i 3o wfafe ¥ gafaa swife-

w1 W II
1. x 3R y WeR yfaeim faeror s 2 A. Z=3ﬁn
2. URE p 3R g giaetm foemo & B. y¥ "9HuE gfg g
Tfordta g
3. UM m #IR n ok g foero C. xy= 3R
o forg Tfvrd faego
4. Tvlﬁx=5,ﬂﬁy=2.53ﬁ'{ﬁlﬁ D. pocl
y=>5,dd x=10 q
5. W& x=10,ddy=>5 3R = E. y¥ Qurur s gni
x=20,ddy=2.5
6. xRy wReR we fo=ror w1 € F. xRy 3am qogad 8 )
7. A x R y wiaem foeror = §, G. man
x ¥ FH FH W
8. A x AR ydY foeror &t &, H. x 3R y wfaeim faeror =@ )
x ¥ FH FH W
. pag
J. mocl
n
92. 75 UM dell g (W) Hell | 20 UM WEH 21 SH YR 1 225 UMW el o
e WEH =2

93. A # WeT G T MEl ¥ AT €1 37 el o = &1 & g€ qHEA o
3.5 cm Hiadt 1 A At 1 Thet 1 cm = 10 km €, @S9 T o s w5
rdfaeh €0 Fd SIS

94. TH A H TH! H DA 2] m e | SH THT Th U w1 D1 8 m el B
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95. = < T ROt WR Telded gn fafe= el 7 e o o T wwe 6 g
21 9 SIS foF hiA-91 Uehoed Fad o 8 @R HiA-9 9o g 2

T (e &) [wma (T )
el - A 435 29
TefaX - B 448 28
e - C 130 10
TefteeX - D 85 5

TefeX B 3R C gRI 3Tel-37efT 140 Qehe ® oot sRal @9 1 Smdft? shiF-a
Ueftaet afush g8 99 Fam iR foha?

96. TF diclerct HIE Tk 3TAd o MHR H1 ¢ AR g4t faamd ww wifHm gor i
fameti o @rer did oruE # 21 ol #1 R | St

N
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97. T# iy YHR & AfFEAl 1 TIR FH o 78 o faw 1 %9 39 @R 1.5 F9

<feheiel w1 STEvdeRdl €| T o o 7.5 %9 dihe 21 9 98 3@ T5 hl TH
Aiegieh o &9 H YAN ST Ed €, @ Al Sl q4R i oh forg 39 TR
FU TY HI AELIRAT SFT?

98. Ui B # Ui A St wR wreet s €1 A 3R B Ul ® et fgatt ok el fagen
Y Heog T 99U fafaq) = 3 @Y gee § €2 g 86, 9 gHe s ST
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e Tigarsl fehohe 1 g @1 120km/h 1 =1 ¥ hehdl 2| SocielSl qh e
% fau 20 m &1 3 @ FH ¥ A3 HI fhaw g am?

x, y o Hidem guaE § 21 9K x H p % # gfg Bt ©, @ y H fered wlaer
HT FHUT T2

Tl U EREFEE #1 g ae fea 8-

(@) Fsit a2 W HHE FHioEl 1wl HioEl 9 ST TG St

bhdbaddhid

(b) STelt il a1 ol @IS i Gt ShfoEl ¥ o U B2

(c) 9 hoft a1 R FHferai o 36t Yed 1 TR Bl 21 TH 14 Tl @ 54 ol
€ R Y fhat el i w1 ordan wd 8?2

et Tt wh =i gl i wei-gee SR, S Y 9§ =od @, gh del g
et it 8-

g (e ®) 1 0.5 2 2.5 3 5

T (km ) 15 75 | 30 375 | 45 | 75

TH 9RO W -9 0 R B @1 87 8 Wik i o Uw #R fead g =i
Ffawt se o fau = @ ™ T w1 ST R @R S megy fea
ST e ARd § AfRIS: A o WY (W) 1 SYANT It B pident o
T e < R T B o A A w i
ek hi fRaHl AN T YA w2
9T T el

1 9 A Tk el S (3TeH)
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FGA Fed Hiedl 1 Teheiet § qen fhamied w el § 5o 9a St 21 9
S 91 ® for SEER! SR w1 i dell R fremied <M w1 <ui €1 98
STt @ fop 50 e wfa wieh 1 e7ef 80 fepadiiex wft sier 1200 km #1 5 <ol
o Fga fhad W = g @ wan?
Y] 1 whenl o forenedl o TR e o fIu diet o= @ B S oTTl el g
TR i WM STt R 3R Gel &1 H@ W Uk STUT i Tl el =Edt B
g8 A © fF 9 99 T g% 60 Ul 9 T 250 THEA FX HHd

(a) 102 U=l &l S=F W 3 I Hea fhadl ¥AaRn TRiAa waf?

(b) &1 379 HT el ek T 2000 THA FT W2 A &F, @ 78 fora qreed =i
I W BM? AR AL, q Fi?

(D) sFwEN, B aﬁTE%ﬁﬁQV
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R
ferar mn w9
SO el o =Aad 10 fornffEi w1 F® g I H FHeRL, STl G
ke wifel g faeneff g =eht T 3@ ok sueR fo famn T @
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faemel =t et g3 fomnr T g =T
Bl (Hed o) (e ®) (m/fi=e 9)
1
2
- foanefl geg oS e

d eMpiaal fSeh SR WM B €, W AU AEvas ®9 9 quH e @,
GUEY fhfadl weddl €1 80 FHEY Al i, St fomiet il uh € eru
o o@1 el S Hich o Gehd €| EY HHEY 3Nl shi SR gl b
YA HTeh S

Tk GHEY TIG HI e 1 B AR SHET dSE 12 Teal 9 S = 22
ST Th TH T H o, FSrh! oo o S3fker 10 TR <6 7 IR Ak
o TR 4 SRR e &, G SAHfd H <A w= R

10 10

4

10 X 4 Fd s9H oh U 2=l 1 Y& S|

A 1 HeE 12 TEA GG o Ty TEH g STET A SR

T I 1 AISE GRS AFG 1 SISE & O @1 <Al STl et el
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FMHR 2TEell HT FAM W gL <t g famistll o THEY AFq IR0 aol derg
X 1 AME TG SIS

(a) IR A 1 =S 8 2Ed © 3R werE 6 T 8| THEY 37 16 2
el © IR x LA Al 2l

(b) URf9eh 3Td 3 2Eal el 3R 7 <Ed o g1 THeY SEd 9 IEA
=gl ® 3R x A oAl 2

3. Yfaem faeror
AM 9k 3R §9F BRI 5 cm o9 9R deMsRR ST STl 39 §dq o

fafr= YR & 96F gouE (9= s9@ &) & § wRu, S9-u/, e,
Tehied, dall

TAF a0 H 3 HAE H fAfg Sel %9 oed ¢ 36 Y& i e anel o
9w qen g9z o 7 wiaeis faeror (warum) =1 fefa 8-

LR in) Tt Tcehigd ae
(g/cm? 13.6 (D) |.99 (D) | .78 (D,) [.96 (D)
ST (cm ) H, H, H, H,

T X HAlE = 3TN
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THE qU1 TRA 90 & AU 99 g 8 W™

Two things are said to be varying if they increase (decrease)
together such that ratio of their corresponding values remains
constant.

3 iy fefid el Sl €, A€ o T &Y 3§ THN 56 () T
ITeh WG Wl T ST TR @I

Problems based on direct proportion can be solved using
method.

WY THMAE W SR WAl ol fafa &1 yam w%eh Ta fwan
Tl 2l
More the number of workers, the number of days, to

finish a job.
gifent =t T fSaet At grn, fordt sl o1 g9 e | Sad )
f

Indirect .

EIIE |

Two quantities are said to be in inverse proportion if an increase in
one quantity causes a proportional in other.

T TR gfaets guged o w€ W 2, A w e | 9fg w9 9 sud ufw o
AT gl

Speed and time are in proportion to each other if
distantce remains the same.

% T A ®, 919 SR T T ¥ T g

It is used to compare two ratios or make fractions.

TR IYART TN ST DI AN HH Al = o # 2 2

‘K’ is called of variation.

‘¢ fa=Ro FHEAM T

In inverse proportion, of corresponding values remains
constant.
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7.  Yfqe® SEEO |, SO0 @ R IR @l 2
8. With an increase in quantity of milk, cost of milk also
8. ¥ & WA ¥ gfg BW W, 3¥ & @@ H T T
1 2 3
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